Fonction

z— flu(z)]

z+—z" (neN")
T — ax® + fr+7

z+— P (neRY)

z— [u(@)]” (a €R")

T — sinx
T — COST

r+—— tanx

T —— arcsinx

I —— arccosx

T —— arctanx

T +—— shx

r+—— chx

Tz +—— thx

xr —— argsh

x +—— argch

x +— argth

DERIVEES USUELLES

Dérivée

zr— ' (z) ' [u(z)]

x— nz" !

r+— 2ar+ 0

x — paP~!

. ™
T cosST = sm(x+§)

. 7r
x+—— —sinz = cos(x—|—§)

1
T — 72:1+tan2m
cos? x
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T +——chz

r+—— shx

Domaine de validité

selon D, et Dy

R

R

] — 00, 0[ ou ]0,4o0]
selon D,,

] — 00,0[ ou |0, +o0o[
R

{z € Dy ; u(x) # 0}
10, 400

{z € D, ; u(x) >0}

10, +o0[

{z € Dy ; u(x) > 0}

R

1, +o0]

]_1’1[



